i 3

L

£z

MO DI DEKZRELTCETHEZLEL LD,

5159 FTORFEES

BEFTELETUVRC

27

1)

Eh
~

\ODH B

o

=T

no

n

1=

WS A

+ |5 |6 | 8| 7|9
8
7
6
9
5
+ |5 |6 | 8| 7|9
8
7
6
9
5

(1/14)



i 3

L

£z

MO DI DEKZRELTCETHEZLEL LD,

5059 FTORFE

BEFTELETUVRC

2

h

fE>5

1)

Eh
~

\ODH B

o

=T

no

n

1=

WS A

+_

3

<

l7

6

5

<N | O OO O | O

S| o || o o+




i 3

L

£z

MO DI DEKZRELTCETHEZLEL LD,

5059 FTORFE

BEFTELETUVRC

2

h

fE>5

1)

Eh
~

\ODH B

o

=T

no

n

1=

WS A

+ |8 |59 | 7|6
8
9
7
6
5
+ |8 | 5|9 | 7|6
8
9
7
6
5

(3/14)



i 3

L

£z

MO DI DEKZRELTCETHEZLEL LD,

5059 FTORFE

BEFTELETUVRC

2

h

fE>5

1)

Eh
~

\ODH B

o

=T

no

n

1=

WS A

+| 76| 8|59
9
6
7
8
5
+| 76| 85|49
9
6
7
8
5

(4/14)



i 3

L

£z

MO DI DEKZRELTCETHEZLEL LD,

5159 FTORFEES

BEFTELETUVRC

27

1)

Eh
~

\ODH B

o

=T

no

n

1=

WS A

+| 78|96 |5
7

6

5

9

8
718196 |5

®» 9 |o|o | 3 +




i 3

L

£z

MO DI DEKZRELTCETHEZLEL LD,

5159 FTORFEES

BEFTELETUVRC

27

1)

Eh
~

\ODH B

o

=T

no

n

1=

WS A

+|9 | 7|5 6|8
9
8
7
5
6
9 |7 5| 6| 8

ol 3| | o 4+




i 3

L

£z

MO DI DEKZRELTCETHEZLEL LD,

5159 FTORFEES

BEFTELETUVRC

27

1)

Eh
~

\ODH B

o =T

no

n

1=

WS A

+ | 8|79 |5]|6
6
8
9
5
7
+ | 8|79 |5]|6
6
8
9
5
7

(7/14)



i 3

L

£z

MO DI DEKZRELTCETHEZLEL LD,

5159 FTORFEES

BEFTELETUVRC

27

1)

Eh
~

\ODH B

o

=T

no

n

1=

WS A

+ |6 | 8|5 7|9
8
5
6
9
7
6 8 5|79

9|9 | oo+




i 3

L

£z

MO DI DEKZRELTCETHEZLEL LD,

5159 FTORFEES

BEFTELETUVRC

27

1)

Eh
~

\ODH B

o

=T

no

n

1=

WS A

+| 6|7 |8|5|49
8
5
9
7
6
6 78| 5]|9

o 9|90 oo +




i 3

L

£z

MO DI DEKZRELTCETHEZLEL LD,

5059 FTORFE

BEFTELETUVRC

2

h

fE>5

1)

Eh
~

\ODH B

o

=T

no

n

1=

WS A

+|9 | 7|6 5|8
6
8
7
5
9
+|9 | 7|6 | 5|8
6
8
7
5
9

(10/14)



i 3

L

£z

MO DI DEKZRELTCETHEZLEL LD,

5059 FTORFE

BEFTELETUVRC

2

h

fE>5

1)

Eh
~

\ODH B

o

=T

no

n

1=

WS A

+|9 | 6|5 7|8
9
5
7
6
8
9 6 57 8

® | o |39 o o+




i 3

L

£z

MO DI DEKZRELTCETHEZLEL LD,

5159 FTORFEES

BEFTELETUVRC

27

1)

Eh
~

\ODH B

o

=T

no

n

1=

WS A

+|19 | 7|6 | 8|5
8

7

9

5

6
97168 5

ol 9| 3 x|+




i 3

L

£z

MO DI DEKZRELTCETHEZLEL LD,

5059 FTORFE

BEFTELETUVRC

2

h

fE>5

1)

Eh
~

\ODH B

o

=T

no

n

1=

WS A

+|9 | 7|5 6|8
9
6
7
5
8
9 |7 5| 6| 8

®| |3 o | 9|+




i 3

L

£z

MO DI DEKZRELTCETHEZLEL LD,

5159 FTORFEES

BEFTELETUVRC

27

1)

Eh
~

\ODH B

o

=T

no

n

1=

WS A

+ |76 |9 |58
5
6
7
8
9
716 9|58

Q|| 3o o +




